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1
1.1
samplel0
1.1.1
0.000m
[ 9.80]
1.1.2
Ae
mv
Cc
De Beer
v =0.45
1.1.3
@
e
@
1.2
() N 7
@
No
1
2
3
4
5
6
7
Cv
Y qo
No- | s Ce Cs (KN/m2) a
1 16.600 0.6600 0.1000 0.0 11 1.00
2 19.600 | 0.7300 | 0.1000 0.0 9 1.00

FORUMS8




Cv

NO | chrmy te Cs (kN/mgg a

3 18.003 | 1.0700 | 0.1000 0.0 | 12 1.00

4 20.700 | 0.9700 | 0.1000 0.0 | 17 1.00

5 17.660 | 0.9400 | 0.1000 0.0 | 10 1.00

6 18.052 | 0.3100 | 0.1000 0.0 6 1.00

7 19.600 | 0.8600 | 0.1000 0.0 | 10 1.00
* Cv a ch

Ch=a Cv

FORUMS8




® ( D m)
2

-50.000 0.000 0.000 3.600 4.600 4.300 0.000 10.300
-35.700 0.000 0.000 6.335 3.048 5.422 0.000 7.930
-32.500 0.000 0.000 5.959 3.689 5.672 0.000 7.400
-24.800 0.000 0.000 5.056 5.229 3.962 2.886 5.552
-15.300 0.000 0.000 3.942 5.332 3.650 6.446 3.272
-15.000 0.000 0.000 3.929 5.314 3.640 6.558 3.200
-4.300 0.000 0.000 3.459 4.645 3.288 7.304 3.896

7.600 0.000 0.000 2.936 3.902 3.950 7.079 4.671
16.000 0.000 0.000 2.567 4.107 3.688 6.921 5.217
18.000 1.414 0.000 2.574 4.156 3.625 6.884 5.347
19.500 1.350 0.000 2.579 4.193 3.578 6.855 5.445
22.000 1.243 0.000 2.587 4.254 4.170 6.138 5.608
23.000 0.000 0.000 2.591 4.278 4.407 5.851 5.673
25.000 0.000 0.000 0.412 4.327 4.881 5.277 5.803
25.300 0.000 0.415 0.000 4.334 4.952 5.192 5.822
26.900 0.000 2.095 0.000 2.711 5.330 4.733 5.926
32.800 0.000 2.390 0.000 2.622 6.727 3.041 6.310
34.300 0.000 0.865 0.000 4.200 7.082 2.610 6.408
35.000 0.000 0.000 1.111 3.978 7.248 2.410 6.453
36.000 0.000 0.000 2.911 3.663 7.485 2.123 6.518
36.500 1.500 0.000 3.062 3.504 7.604 1.979 6.551
39.000 1.500 0.000 3.814 2.715 8.195 1.262 6.714
42.000 0.000 0.000 4.716 1.768 8.906 0.401 6.909
43.400 0.000 0.000 5.137 1.326 9.237 0.000 7.000
47.600 0.000 0.000 6.400 0.000 8.447 0.000 7.853
70.000 0.000 0.000 5.900 0.000 4.400 0.000 12.400

FORUMS8




(4) e logP

P
e

[1]

1.7
1.65
1.6
1.55
1.5
1.45
1.4
1.35
1.3
©1.25
1.2
1.15
1.1
1.05

0.95
0.9
0.85
0.8

(KN/m?)

10

100

1,000

5

6

7

8

9

9.800

19.600

39.200

78.400

156.800

313.600

627.200

1254.400

2508.800

1.736

1.715

1.682

1.604

1.471

1.299

1.119

0.951

0.790

100
P

1,000

5

6

7

8

9.800

19.600

39.200

78.500

157.000

313.900

627.800

1255.700

1.346

1.329

1.295

1.228

1.101

0.972

0.837

0.695

FORUMS8




[ 3]

100
P

1,000

5

6

7

8

9.800

19.600

39.200

78.500

157.000

314.000

628.000

1256.000

1.295

1.276

1.245

1.219

1.161

1.050

0.915

0.782

100
P

1,000

5

6

7

8

9.800

19.600

39.200

78.500

157.000

313.900

627.800

1255.700

1.248

1.233

1.206

1.148

1.027

0.901

0.773

0.641

FORUMS8



[7]

0.98
0.96
0.94
0.92

0.9
0.88
0.86
0.84
0.82

0.8
0.78
0.76
0.74
0.72

0.7
0.68
0.66
0.64
0.62

0.6
0.58
0.56

100
P

1,000

6

7

8

9

4.900

9.800

19.600

39.200

78.500

157.000

314.000

628.000

1256.000

1.011

1.005

0.994

0.974

0.948

0.900

0.828

0.741

0.649

10

2512.000

0.555

FORUMS8



(5) logmv 1logP
P : (kN/m?)
mv : (m?/kN)
[1]
0.001
>
g
0.000
10 100 1,000
P
i 1 2 3 4 5 6 7 8
P 4.900 13.860 27.720 55.440 110.870 221.750 443.500 886.990
mv 0.0016300 | 0.0007910 | 0.0006280 | 0.0007490 | 0.0006730 | 0.0004580 | 0.0002610 | 0.0001310
i 9
P 1773.990
mv 0.0000690

FORUMS8



[ 2]
>
g
0.000
10 100
P
i 1 2 3 4 5 6 7 8
P 4.900 13.859 27.719 55.473 111.016 221.996 443.922 887.879
mv 0.0002510 | 0.0003650 | 0.0003710 0.0003780 | 0.0003740 | 0.0002020 | 0.0001120 | 0.0000641
[ 3]
0.001 A
>
g
0.000
10 100 1,000
P
i 1 2 3 4 5 6 7 8
P 2.450 6.930 13.859 27.719 55.473 111.016 222.032 444 .063
mv 0.0009000 0.0013700 0.0006960 0.0007080 0.0005460 0.0004670 0.0003050 0.0001590
i 9 10
P 888.126 1776.252
mv 0.0000952 | 0.0000528

FORUMS8



[ 5]
>
g
0.000
10 100
P
i 1 2 3 4 5 6 7 8
P 4.900 13.859 27.719 55.473 111.016 221.996 443.922 887.879
mv 0.0002560 | 0.0003550 | 0.0003060 | 0.0003410 | 0.0003690 | 0.0002030 | 0.0001120 | 0.0000616
[7]
>
g
0.000
10 100 1,000
P
i 1 2 3 4 5 6 7 8
P 2.450 6.930 13.859 27.719 55.473 111.016 222.032 444 .063
mv 0.0003470 | 0.0005730 | 0.0005550 | 0.0005080 | 0.0003450 | 0.0003140 | 0.0002490 | 0.0001540
i 9 10
P 888.126 1776.252
mv 0.0000864 | 0.0000467

FORUMS8



- 10 -

(6) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[1]
10,000
1,000
>
]
100
10 100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 4.900 13.860 27.720 55.440 | 110.870 | 221.750 | 443.500 | 886.990 | 1773.990
Cv 13491.5 | 2128.0 1431.2 36.1 22.3 26.8 23.7 27.8 25.3
[2]
1,000 /\
3
10 100
P
i 1 2 3 4 5 6 7 8
P 4.900 13.859 27.719 55.473 | 111.016 | 221.996 | 443.922 | 887.879
Cv 1214.0 799.6 1173.7 748.7 293.9 280.1 353.9 342.4

FORUMS8



- 11 -

[3]
>
&}
1,000 Y,
10 100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 2.450 6.930 13.859 27.719 55.473 | 111.016 | 222.032 | 444.063 | 888.126
Cv 1214.6 750.8 1182.0 962.2 1857.8 1052.0 1611.5 974.2 873.1
i 10
P 1776.252
Cv 1385.7
[ 5]
1,000
>
&}
10 100
i 1 2 3 4 5 6 7 8
P 4.900 13.859 27.719 55.473 | 111.016 | 221.996 | 443.922 | 887.879
Cv 1456.7 719.7 1008.8 566.2 283.9 276.5 483.8 379.6

FORUMS8



- 12 -

[7]
1,000 /\\\
>
&}
10 100 1,000
P
i 1 2 3 4 5 6 7 8 9
P 2.450 6.930 13.859 27.719 55.473 | 111.016 | 222.032 | 444.063 | 888.126
Cv 521.9 303.1 167.8 1421.0 867.5 835.1 627.0 442.0 576.2
i 10
P 1776.252
Cv 772.0

FORUMS8



- 13 -

1.3
@) 1
)
[ 1]
(kN/m?)
No. Q) (m ! 2 Ly | o
1 -20.000 10.000 0.000 70.000 | — —
2 -10.000 7.000 70.000 70.000 | —— —_—
3 -3.000 7.000 70.000 0.000 | — —_—
4 18.000 4.000 0.000 40.000 | — —
22.000 1.000 40.000 66.000 | —— —_—
6 23.000 2.000 66.000 106.000 | —— E—
7 25.000 10.000 106.000 96.000 | — —
8 35.000 1.000 96.000 66.000 | —— —_—
9 36.000 0.500 66.000 36.000 | — —_—
10 36.500 2.500 36.000 17.000 | — —
11 39.000 3.000 17.000 20.000 | — —_—
12 42.000 2.500 20.000 0.000 | — E—

FORUMS8




- 14 -

1.4
X

No. (m)
1 -20.000
2 -10.000
3 0.000
4 10.000

20.000
6 30.000
7 40.000

FORUMS8




- 15 -

1.5
1.5.1
| O@
10 -
@
51 @
0 1 ©®
_5 -
-10 - @
(m)
=
@®
@
@
@
®
®
N

)

AN
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v
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nm @ @ @ 6 6 0

FORUMS8



- 16 -

1.5.2
@
(
12.800 12.800
(
-50.000 70.000
No
1 16.000 12.500
2 18.000 14.000
3 22.000 14.000
4 23.000 12.800
5 25.000 10.700
6 35.000 11.200
7 36.000 12.700
8 36.500 14.200
9 39.000 14.200
10 42.000 12.700
@
[ 11
12.800 12.700
No
1 16.000 12.500
2 23.000 12.800
3 25.000 10.700
4 35.000 11.200
5 36.000 12.700
6 42.000 12.700
[ 2]
12.800 12.700
No
1 16.000 12.500
2 23.000 12.800
3 25.000 10.700
4 25.300 10.300
5 26.900 8.700
6 32.800 8.700
7 34.300 10.300

FORUMS8




- 17 -

No
8 35.000 11.200
9 36.000 12.700
[ 31
9.200 6.800
No
1 -35.700 6.400
2 -15.300 8.700
3 25.300 10.300
4 26.900 8.700
5 32.800 8.700
6 34.300 10.300
7 47.600 6.300
[ 41
4.600 6.800
No
1 -24.800 2.400
2 7.600 5.700
3 47.600 6.300
[ 51
0.300 2.400
No
1 -32.500 -2.600
2 -4.300 1.200
3 19.500 2.300
4 43.400 -3.000
[ 61
0.300 2.400

FORUMS8




- 18 -

No

-32.500
-15.000
43.400

WN -

-2.600
-6.800
-3.000

[ 71

-10.000 -10.000

®

0.000 0.000

FORUMS8




- 19 -

1.6

[P*+ P*/2] mv
[P*+ P"/2] Cv
[ 1

FORUMS8




- 20 -

2
2.1
2.1.1 1
Lx = -20.000 (m)
@
P:
No. :
(m
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
(m (kN/m°) (kN/nr) (kN/m) (kN/nr) 1
(KN/m?)
1 0.000 | 16.600 | 0.000 0.000 0.000 0.000
2 0.000 | 19.600 | 0.000 0.000 0.000 0.000
3 4.493 | 18.003 | 80.890 40.445 40.445 4.853
4 5.281 | 20.700 | 190.208 | 54.659 135.549 | 13.206
5 3.804 | 17.660 | 257.392 | 33.592 223.800 | 17.352
6 4.685 | 18.052 |341.961 | 42.284 299.677 | 18.959
7 4.400 | 19.600 |428.201 | 43.120 385.081 | 19.387

FORUMS8




- 21 -

) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 0.000 1.7360 1.7360 0.000
2 0.000 1.3460 1.3460 0.000
3 4.493 1.2438 1.2396 0.0042 0.0019 0.008
4 5.281 0.000
5 3.804 0.9625 0.9489 0.0136 0.0069 0.026
6 4.685 0.5300 0.5290 0.0011 0.0007 0.025
7 4.400 0.8024 0.7962 0.0062 0.0034 0.015
S 0.075 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 0.000 0.00163 0.000 0.000
2 0.000 0.00025 0.000 0.000
4.493 0.00060 4.853 0.013
4 5.281 0.000
5 3.804 0.00020 17.352 0.013
6 4.685 0.025
7 4.400 0.00017 19.387 0.014
>S 0.065 m

FORUMS8




- 22 -

(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 0.000 0.6600 1.7360 0.00000 0.000
2 0.000 0.7300 1.3460 0.00000 0.000
4.493 1.0700 1.2438 0.04921 0.105
4 5.281 0.000
5 3.804 0.9400 0.9625 0.03243 0.059
6 4.685 0.5300 0.025
7 4.400 0.8600 0.8024 0.02133 0.045
>S 0.234 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N P
PO (kN/m?)
N N
P :
p* PO qO
UP
DN
1
0 1 PO + AP
H P oguw——,
No. n (kN/m) P (m
6 4.685 6 299.677 0.02664 0.025
De Beer 2S 0.025 m

FORUMS8




- 23 -

2.1.2 2
Lx = -10.000 (m)
€Y
P:
No. :
H (m)
Y (kN/m*)
PO (kN/m*)
P
No H y >YyH y H/2 PO
(m) (N/m?) | (KN/m?) | (kNZm?) | (KN/mY) 1
(KN/m?)
1 0.000 | 16.600 | 0.000 0.000 0.000 0.000
2 0.000 | 19.600 | 0.000 0.000 0.000 0.000
3 3.709 18.003 | 66.780 33.390 33.390 65.780
4 5.001 20.700 170.308 | 51.764 118.544 | 55.225
5 3.476 | 17.660 | 231.686 | 30.689 200.997 | 45.645
6 6.907 18.052 | 356.364 | 62.339 294.025 | 36.947
7 3.525 | 19.600 | 425.459 | 34.547 390.911 | 31.299

FORUMS8



- 24 -

) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 0.000 1.7360 1.7360 0.000
2 0.000 1.3460 1.3460 0.000
3 3.709 1.2522 1.1994 0.0527 0.0234 0.087
4 5.001 0.000
5 3.476 0.9821 0.9449 0.0372 0.0188 0.065
6 6.907 0.5305 0.5283 0.0022 0.0014 0.070
7 3.525 0.8005 0.7908 0.0097 0.0054 0.019
S 0.241 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 0.000 0.00163 0.000 0.000
2 0.000 0.00025 0.000 0.000
3.709 0.00052 65.780 0.128
4 5.001 0.000
5 3.476 0.00020 45.645 0.032
6 6.907 0.070
7 3.525 0.00016 31.299 0.018
>S 0.248 m

FORUMS8




- 25 -

(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 0.000 0.6600 1.7360 0.00000 0.000
2 0.000 0.7300 1.3460 0.00000 0.000
3.709 1.0700 1.2522 0.47276 0.833
4 5.001 0.000
5 3.476 0.9400 0.9821 0.08888 0.146
6 6.907 0.5305 0.070
7 3.525 0.8600 0.8005 0.03345 0.056
S 1.106 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N p
PO (kN/m?)
N N
P :
p* PO qO
uP
DN
1
0 1 PO + AP
H P ogn— -,
No. n (kN/m) P (m
6 6.907 6 294.025 0.05141 0.070
De Beer 2S 0.070 m

FORUMS8




- 26 -

2.1.3 3
Lx = 0.000 (m)
N/
€Y

P :
No. :
H (m
Y (kN/m*)
PO (kN/m*)

P
No H y . >y HZ yH/22 P02

(m (KN/m) (KN/m?) (KN/m*) (KN/m*) 1

(KN/m?)
1 0.000 | 16.600 | 0.000 0.000 0.000 0.000
2 0.000 | 19.600 | 0.000 0.000 0.000 0.000
3 3.270 | 18.003 | 58.870 29.435 29.435 39.897
4 4.377 20.700 149.464 | 45.297 104.167 | 37.783
5 3.527 | 17.660 | 211.755 | 31.145 180.609 | 35.332
6 7.223 18.052 | 342.139 | 65.192 276.947 | 32.585
7 4.176 | 19.600 | 423.989 | 40.925 383.064 | 30.600

FORUMS8




- 27 -

) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 0.000 1.7360 1.7360 0.000
2 0.000 1.3460 1.3460 0.000
3 3.270 1.2578 1.2236 0.0342 0.0151 0.049
4 4.377 0.000
5 3.527 1.0015 0.9690 0.0325 0.0162 0.057
6 7.223 0.5320 0.5295 0.0025 0.0016 0.064
7 4.176 0.8030 0.7934 0.0096 0.0053 0.022
S 0.194 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 0.000 0.00163 0.000 0.000
2 0.000 0.00025 0.000 0.000
3.270 0.00057 39.897 0.074
4 4.377 0.000
5 3.527 0.00022 35.332 0.028
6 7.223 0.064
7 4.176 0.00017 30.600 0.021
>S 0.188 m

FORUMS8




- 28 -

(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 0.000 0.6600 1.7360 0.00000 0.000
2 0.000 0.7300 1.3460 0.00000 0.000
3.270 1.0700 1.2578 0.37207 0.577
4 4.377 0.000
5 3.527 0.9400 1.0015 0.07760 0.129
6 7.223 0.5320 0.064
7 4.176 0.8600 0.8030 0.03338 0.066
S 0.836 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N p
PO (kN/m?)
N N
P :
p* PO qO
uP
DN
1
0 1 PO + AP
H P ogn— -,
No. n (kN/m) P (m
6 7.223 6 276.947 0.04831 0.064
De Beer 2S 0.064 m

FORUMS8




- 29 -

2.1.4 4
Lx = 10.000 (m)
-/
€Y

P :

No. :

H (m

Y (kN/m*)

PO (kN/m*)

P
No H y >YyH y H/2 PO
(m (kN/m°) (kN/nr) (kN/m?) (kN/nr) 1
(KN/m?)

1 0.000 | 16.600 | 0.000 0.000 0.000 0.000
2 0.000 | 19.600 | 0.000 0.000 0.000 0.000
3 2.831 18.003 | 50.959 25.479 25.479 0.177
4 3.961 | 20.700 | 132.943 | 40.992 91.951 2.785
5 3.875 | 17.660 | 201.378 | 34.218 167.160 | 9.417
6 7.034 | 18.052 | 328.353 | 63.488 264.865 | 19.208
7 4.827 | 19.600 | 422.962 | 47.305 375.657 | 26.110

FORUMS8




- 30 -

) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 0.000 1.7360 1.7360 0.000
2 0.000 1.3460 1.3460 0.000
3 2.831 1.2643 1.2640 0.0003 0.0001 0.000
4 3.961 0.000
5 3.875 1.0156 1.0056 0.0100 0.0049 0.019
6 7.034 0.5331 0.5313 0.0017 0.0011 0.038
7 4.827 0.8055 0.7971 0.0084 0.0047 0.023
S 0.080 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 0.000 0.00163 0.000 0.000
2 0.000 0.00025 0.000 0.000
2.831 0.00071 0.177 0.000
4 3.961 0.000
5 3.875 0.00025 9.417 0.009
6 7.034 0.038
7 4.827 0.00017 26.110 0.021
>S 0.069 m

FORUMS8




- 31 -

(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 0.000 0.6600 1.7360 0.00000 0.000
2 0.000 0.7300 1.3460 0.00000 0.000
2.831 1.0700 1.2643 0.00301 0.004
4 3.961 0.000
5 3.875 0.9400 1.0156 0.02380 0.043
6 7.034 0.5331 0.038
7 4.827 0.8600 0.8055 0.02918 0.067
>S 0.152 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N P
PO (kN/m?)
N N
P :
p* PO qO
UP
DN
1
0 1 PO + AP
H P oguw——,
No. n (kN/m) P (m
6 7.034 6 264865 0.03040 0.038
De Beer 2S 0.038 m

FORUMS8




- 32 -

2.1.5 5
Lx = 20.000 (m)
@
P:
No. :
H (m
Y (kN/m*)
PO (kN/m*)
P
No H y >YyH y H/2 PO
(m (kN/m°) (kN/nr) (kN/m?) (kN/nr) 1
(KN/m?)
1 1.329 | 16.600 | 22.055 11.027 11.027 19.775
2 0.000 | 19.600 | 22.055 0.000 22.055 0.000
3 2.581 | 18.003 | 68.513 23.229 45.284 17.315
4 4.205 | 20.700 | 155.561 | 43.524 112.037 | 21.334
5 3.696 | 17.660 |220.839 | 32.639 188.200 | 31.875
6 6.712 | 18.052 | 341.997 | 60.579 281.418 | 37.574
7 5.478 | 19.600 | 449.358 | 53.680 395.678 | 37.841

FORUMS8
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) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 1.329 1.7324 1.6935 0.0389 0.0143 0.019
2 0.000 1.3232 1.3232 0.000
3 2.581 1.2396 1.2275 0.0121 0.0054 0.014
4 4.205 0.000
5 3.696 0.9940 0.9656 0.0285 0.0143 0.053
6 6.712 0.5316 0.5289 0.0026 0.0017 0.069
7 5.478 0.7990 0.7875 0.0115 0.0064 0.035
S 0.189 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 1.329 0.00069 19.775 0.018
2 0.000 0.00037 0.000 0.000
2.581 0.00055 17.315 0.025
4 4.205 0.000
5 3.696 0.00022 31.875 0.026
6 6.712 0.069
7 5.478 0.00016 37.841 0.033
>S 0.170 m

FORUMS8
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(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 1.329 0.6600 1.7324 0.44612 0.143
2 0.000 0.7300 1.3232 0.00000 0.000
2.581 1.0700 1.2396 0.14062 0.173
4 4.205 0.000
5 3.696 0.9400 0.9940 0.06795 0.118
6 6.712 0.5316 0.069
7 5.478 0.8600 0.7990 0.03967 0.104
>S 0.607 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N P
PO (kN/m?)
N N
P :
p* PO qO
UP
DN
1
0 1 PO + AP
H P oguw——,
No. n (kN/m) P (m
6 6.712 6 281.418 0.05443 0.069
De Beer 2S 0.069 m

FORUMS8
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2.1.6 6
Lx = 30.000 (m)
@
P:
No. :
H (m)
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
(m) (N/m?) | (KN/m?) | (kNZm?) | (KN/mY) 1
(KN/m?)
1 0.000 | 16.600 | 0.000 0.000 0.000 0.000
2 2.250 | 19.600 | 44.100 22.050 22.050 103.109
3 0.000 | 18.003 | 44.100 0.000 44100 0.000
4 2.664 | 20.700 | 99.250 27.575 71.675 100.428
5 6.064 | 17.660 | 206.340 | 53.545 152.795 | 81.089
6 3.844 | 18.052 | 275.732 | 34.696 241.036 | 62.060
7 6.128 | 19.600 | 395.836 | 60.052 335.784 | 49.903

FORUMS8
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) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 0.000 1.7360 1.7360 0.000
2 2.250 1.3232 1.1425 0.1807 0.0778 0.175
3 0.000 1.2406 1.2406 0.000
4 2.664 0.000
5 6.064 1.0317 0.9545 0.0772 0.0380 0.230
6 3.844 0.5354 0.5298 0.0056 0.0036 0.061
7 6.128 0.8196 0.8022 0.0174 0.0096 0.059
S 0.526 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 0.000 0.00163 0.000 0.000
2 2.250 0.00038 103.109 0.087
0.000 0.00059 0.000 0.000
4 2.664 0.000
5 6.064 0.00023 81.089 0.112
6 3.844 0.061
7 6.128 0.00018 49.903 0.054
>S 0.316 m

FORUMS8
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(4)Cc
Ce PO + AP
= logis 5
1 + e0 P
p* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 0.000 0.6600 1.7360 0.00000 0.000
2 2.250 0.7300 1.3232 0.75405 0.533
0.000 1.0700 1.2406 0.00000 0.000
4 2.664 0.000
5 6.064 0.9400 1.0317 0.18489 0.519
6 3.844 0.5354 0.061
7 6.128 0.8600 0.8196 0.06017 0.174
S 1.288 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N p
PO (kN/m?)
N N
P :
p* PO qO
uP
DN
1
0 1 PO + AP
H P ogn— -,
No. n (kN/m) P (m
6 3.844 6 241.036 0.09950 0.061
De Beer 2S 0.061 m

FORUMS8
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2.1.7 7
Lx = 40.000 (m)
@
P:
No. :
H (m)
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
(m) (N/m?) | (KN/m?) | (kNZm?) | (KN/mY) 1
(KN/m?)
1 1.000 | 16.600 | 16.600 8.300 8.300 18.335
2 0.000 | 19.600 | 16.600 0.000 16.600 0.000
3 4.115 | 18.003 | 90.676 37.038 53.638 17.645
4 2.399 | 20.700 | 140.343 | 24.833 115.509 | 21.327
5 8.432 | 17.660 | 289.252 | 74.455 214797 | 30.811
6 0.975 | 18.052 | 306.852 | 8.800 298.052 | 33.131
7 6.779 | 19.600 | 439.721 | 66.434 373.287 | 32.693

FORUMS8
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) e
:% cee e (0> el)
el PO q0
el PO+ P
1
e0 — el
No. H(m) e0 er| 0L T
1 1.000 1.7360 1.7004 0.0356 0.0130 0.013
2 0.000 1.3331 1.3331 0.000
3 4.115 1.2333 1.2226 0.0106 0.0048 0.020
4 2.399 0.000
5 8.432 0.9700 0.9456 0.0244 0.0124 0.104
6 0.975 0.5302 0.5283 0.0019 0.0012 0.009
7 6.779 0.8063 0.7958 0.0105 0.0058 0.040
S 0.185 m
3)mv
S=nmv ( PO + H
mv P* + P"/ 2 AP PO AP P*
p* PO qO
1
No. H(m) mv(m’/kN) | PO+A P-P* (kN/m?) m
1 1.000 0.00073 18.335 0.013
2 0.000 0.00037 0.000 0.000
4.115 0.00053 17.645 0.039
4 2.399 0.000
5 8.432 0.00020 30.811 0.051
6 0.975 0.009
7 6.779 0.00017 32.693 0.037
>S 0.149 m

FORUMS8
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(4)Cc
Ce PO + AP
= logis 5
1+ e0 P
P* PO qO
1
1 PO + AP
No. H(m) Cc e0 O8I (m)
1 1.000 0.6600 1.7360 0.50637 0.122
2 0.000 0.7300 1.3331 0.00000 0.000
4.115 1.0700 1.2333 0.12351 0.243
4 2.399 0.000
5 8.432 0.9400 0.9700 0.05821 0.234
6 0.975 0.5302 0.009
7 6.779 0.8600 0.8063 0.03646 0.118
2 S 0.726 m
(5)De Beer (N )
PO PO + AP
S=0.004+—H-* logy——
N p
PO : (kN/m?)
N N
P :
p* PO qO0
up
DN
1
0 1 PO + AP
H P oguw——,
No. n (kN/m) P (m
6 0.975 6 298.052 0.04578 0.009
De Beer 2S 0.009 m

FORUMS8
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2.2
2.2.1

1.0

(m) O»oOo@ @ W G ® 0

E— Neik
""""""""""""""""""" Mv &
**************** Cec 1=

FORUMS8
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2.2.2

FORUM8
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3
6
Lx = 30.000 (m)
e
3.1 Cv
PO : (kN/m?)
P: (kN/m?)
P P+ P/ 2 (KN/m)(AP":PO+A P-P",P":P0 qO
Cv m7/ )
1
POCKN/TY) | P(KN/m?) | PCKN/MD) | Cv@m/ )
1 0.000 0.000 0.000 1.349150
2 22.050 103.109 73.604 0.051140
3 44.100 0.000 44.100 0.149453
5 152.795 81.089 193.340 0.027796
7 335.784 49.903 360.735 0.049085
Cv
D(m) cv(m/ )
i 1.125 0.051140
ii 3.032 0.027796
i 3.064 0.049085
3.2
AR 1= DT (MO
D : (m)
Cv : m/ )
u :
Tv :
t )
S (m)
CT: 60

FORUMS8
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1
i
U 0.1 0.2 0.3 0.4 0.5 .6 7 -8 -9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 .287 .403 .567 .848 | —
t( ) 12 18 24 30 35 40 46 51 57 | —
S(m) 0.017 | 0.035| 0.052 | 0.070 | 0.087 .105 .122 .140 .157 | 0.175
ii
U 0.1 0.2 0.3 0.4 0.5 .6 7 -8 -9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 .287 .403 .567 .848 | —
t( ) 26 43 55 72 95 125 163 218 310 | —
S(m) 0.023 | 0.046 | 0.069 | 0.092 | 0.115 .138 .161 .184 .207 | 0.230
il
U 0.1 0.2 0.3 0.4 0.5 .6 7 -8 .9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 | 0.197 .287 .403 .567 .848 | —
t( ) 21 36 46 56 68 85 107 138 192 | —
S(m) 0.006 | 0.012 | 0.018 | 0.023 | 0.029 .035 .041 .047 .053 | 0.059

FORUMS8




- 45 -

3.3

% H E

==
—
iy

v i &

0.0

JEF R ¢ [H]

(m)

ii
111

Sg = 0.526 m

FORUMS8
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3.4

JEF R ¢ [H]

0
[

ii

iii

2 H & &

0.0

HE -

1.0

FORUMS8
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